## Combined Program Totals Graduates

Spring 2023

Program	May 2023	Respond Sur		continu	luates ing their cation	emplo field of	luates byed in training ted field	Grade employ not in t	ed but field of	Gradi unemplo actively emplo	yed but seeking	unemp not s	duates loyed but seeking oyment	Median rnings After rad In Field
		Number	%	Number	%	Number	%	Number	%	Number	%	Number	%	
Degree Programs	95	44	46.3%	28	63.6%	32	72.7%	4	9.1%	0	0.0%	3	6.8%	\$ 51,329.73
Technical Programs	146	52	35.6%	37	71.2%	46	88.5%	6	11.5%	1	1.9%	0	0.0%	\$ 43,469.85
Certificates of Proficiency	40	22	55.0%	13	59.1%	12	54.5%	10	45.5%	1	4.5%	0	0.0%	\$ 41,013.71
							·						•	•
TOTALS	281	118	42.0%	78	66.1%	90	76.3%	20	17.0%	2	1.7%	3	2.5%	\$ 45,271.10

## Degree Program Graduates Spring 2023

Program	May 2023	Su	ndants to irvey	contini edu	duates uing their cation	employe of trai relate	luates ed in field ning or ed field		employ not in trai	uates yed but field of ning	unem actively emplo	uates ployed seeking oyment	unemp sec empl	duates loyed not eking oyment	Median Earnings ter Grad In Field
		Number	%	Number	%	Number	%	4	Number	%	Number	%	Number	%	
Associate of Arts	30	5	17.0%	4	80.0%	3	60.0%		1	20.0%	0	0.0%	2	40.0%	\$ 47,840.00
AAS Business Administration	5	4	80.0%	2	50.0%	4	100.0%		1	25.0%	0	0.0%	0	0.0%	\$ 35,360.00
AAS Accounting	0	0	0.0%	0	0.0%	0	0.0%	7	0	0.0%	0	0.0%	0	0.0%	\$ -
AAS Med Office	0	0	0.0%	0	0.0%	0	0.0%		0	0.0%	0	0.0%	0	0.0%	\$ -
AAS Computer Info Tech	0	0	0.0%	0	0.0%	0	0.0%		0	0.0%	0	0.0%	0	0.0%	\$ -
AAS Dietetics	0	0	0.0%	0	0.0%	0	0.0%		0	0.0%	0	0.0%	0	0.0%	\$ -
AAS EMT/Paramedic	1	0	0.0%	0	0.0%	0	0.0%		0	0.0%	0	0.0%	0	0.0%	\$ -
AAS Fire Science	1	0	0.0%	0	0.0%	0	0.0%		0	0.0%	0	0.0%	0	0.0%	\$ -
AAS Health Science- Nursing	18	8	44.5%	6	75.0%	5	62.5%		0	0.0%	0	0.0%	0	0.0%	\$ 50,832.00
AAS Health Science- Respiratory	9	4	44.5%	1	25.0%	4	100.0%		0	0.0%	0	0.0%	0	0.0%	\$ 58,590.00
AS Agri Studies	0	0	0.0%	0	0.0%	0	0.0%		0	0.0%	0	0.0%	0	0.0%	\$ -
AS Criminal Justice	1	1	100.0%	0	0.0%	0	0.0%		1	100.0%	0	0.0%	0	0.0%	\$ 56,000.00
AAS Ind Maint	4	4	100.0%	2	50.0%	2	50.0%		1	25.0%	0	0.0%	0	0.0%	\$ 45,000.00
AS Agri Plane & Soil	3	2	66.7%	2	100.0%	1	50.0%		0	0.0%	0	0.0%	0	0.0%	\$ 40,560.00
AS Agri Business	1	1	100.0%	1	100.0%	0	0.0%		0	0.0%	0	0.0%	0	0.0%	\$ -
AAS Bus Tech App	0	0	0.0%	0	0.0%	0	0.0%		0	0.0%	0	0.0%	0	0.0%	\$ -
Associate of General Studies	30	6	20.0%	4	66.7%	4	66.7%		0	0.0%	0	0.0%	1	16.7%	\$ 43,309.33
AAS Registered Nursing	13	5	38.5%	5	100.0%	5	100.0%		0	0.0%	0	0.0%	0	0.0%	\$ 77,224.96
AAS Respiratory Care	9	4	44.4%	1	25.0%	4	100.0%		0	0.0%	0	0.0%	0	0.0%	\$ 58,590.00
TOTALS	95	44	46.3%	28	63.6%	32	72.7%		4	9.1%	0	0.0%	3	6.8%	\$ 51,329.73

## Technical Program Graduates Spring 2023

Program	May 2023		ndants to urvey	continu	duates uing their cation	emplo of tra	aduates yed in field aining or ted field	employ	aduates /ed but not of training	unemp	duates bloyed but by seeking loyment	unempl not s	luates oyed but eeking oyment	Median Earnings After Grad In Field
		Number	%	Number	%	Numbe	r %	Numbe	r %	Number	%	Number	%	
Automotive Collision- Cosmetic Repair	5	4	80.0%	0	0.0%	4	100.0%	0	0.0%	0	0.0%	0	0.0%	\$ 46,800.00
Automotive Collision- Structural Repair	1	1	100.0%	0	0.0%	1	100.0%	0	0.0%	0	0.0%	0	0.0%	\$ -
AST Electrical-Engine	5	1	20.0%	0	0.0%	1	100.0%	0	0.0%	0	0.0%	0	0.0%	\$ 50,000.00
AST Powertrain - Systems	1	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	\$ -
AST Master	0	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	\$ -
Nutrition & Food Service	1	1	100.0%	1	100.0%	1	100.0%	0	0.0%	0	0.0%	0	0.0%	\$ -
Firefighter Essentials	1 1	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	\$ -
Health Professions - N	52	20	38.5%	24	46.2%	20	100.0%	1	5.0%	0	0.0%	1	5.0%	\$ 54,819.37
Health Professions - R	0	0		0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	\$ -
Industrial Electricity/Electronics	3	2	66.7%	2	100.0%	1	50.0%	0	0.0%	0	0.0%	0	0.0%	\$ 39,520.00
Law Enforcement	46	11	23.9%	2	18.2%	10	90.9%	2	18.2%	0	0.0%	0	0.0%	\$ 50,788.44
Machine Tool	2	1	50.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	0	0.0%	\$ 35,984.00
Microcomputer Repair Technician	5	3	60.0%	2	66.7%	1	33.3%	1	33.3%	1	33.3%	0	0.0%	\$ 54,000.00
EMT - Paramedic	1	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	\$ -
Practical Nursing	5	1_	20.0%	1	20.0%	1	100.0%	0	0.0%	0	0.0%	0	0.0%	\$ -
Welding	7	3	42.9%	1	33.3%	2	66.7%	0	0.0%	0	0.0%	0	0.0%	\$ 40,600.00
Accounting Assistant	6	4	66.7%	3	75.0%	3	75.0%	0	0.0%	0	0.0%	0	0.0%	\$ 38,266.67
General Studies	0	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	\$ -
Gunsmithing	0	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	\$ -
Criminal Justice	2	1	50.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	0	0.0%	\$ 23,920.00
TOTALS	146	52	35.6%	37	71.2%	46	88.5%	6	11.5%	1	1.9%	0	0.0%	\$ 43,469.85

## Certificate of Proficiency Graduates Spring 2023

Program	May 2023	Respond Sur		Gradi continui educa	ng their	employed training	uates in field of or related	employe	duates ed but not of training	unemple actively	,	unemploy see	uates ed but not king yment	Median Earnings After Grad In Field
		Number	%	Number	%	Number	%	Number	%	Number	%	Number	%	
Phlebotomy	13	5	38.5%	2	40.0%	1	20.0%	2	40.0%	0	0.0%	0	0.0%	\$ 45,760.00
Medical Coding	2	2	100.0%	0	0.0%	2	100.0%	0	0.0%	0	0.0%	0		\$ 37,500.00
ЕМТ	3	3	100.0%	2	66.7%	1	33.3%	2	66.7%	1	33.3%	0		\$ 37,560.00
Medical Transcription	4	2	50.0%	2	100.0%	1	50.0%	1	50.0%	0	0.0%	0	0.0%	\$ 66,680.00
Microcomputer Repair Technician	0	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	\$ -
Crime Scene Investigation	0	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	\$ -
Law Enforcement	0	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	\$ -
Nursing Assistant	9	5	55.6%	4	80.0%	4	80.0%	1	20.0%	0	0.0%	0	0.0%	\$ 30,000.00
Accounting Assistant	1	1	100.0%	0	0.0%	1	100.0%	0	0.0%	0	0.0%	0	0.0%	\$ -
Machinist	0	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	\$ -
Shotgunsmithing	3	1	33.3%	1	33.3%	1	33.3%	2	67.7%	0	0.0%	0	0.0%	\$ -
Welding	1	1	100.0%	0	0.0%	0	0.0%	1	100.0%	0	0.0%	0	0.0%	\$ -
Industrial Electricity	3	1	33.3%	1	33.3%	0	0.0%	1	33.3%	0	0.0%	0	0.0%	\$ 35,360.00
Fire Science	0	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	\$ -
Criminal Justice	0	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	\$ -
Nutrition & Foodservice	1	1	100.0%	1	100.0%	1	100.0%	0	0.0%	0	0.0%	0	0.0%	\$ 34,236.00
TOTALS	40	22	55.0%	13	59.1%	12	54.5%	10	45.5%	1	4.5%	0	0.0%	\$ 41,013.71